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EFETHETRAOR
FRERERAOGIEAZEHZED) {I_'.I\*[H £E1 OH 1H EE.E
BT 4 HH 5 £ it
B] i3 3m] ;28 AT 297 369 405 774
AER1TH 1,043 1,202 1,306 2,508
EARI2TH 1,218 1,109 1,433 2,542
A R ET 2,276 2,354 2,583 4,937
BERT1TH 518 529 585 1,114
B ERT2TH 408 426 476 902
B ERI3TH 315 361 346 707
BEBRT4TH 532 502 537 1,039
B EBRTSTH 849 933 946 1,879
I ER6TH 364 397 422 819
HiF = HT 533 617 656 1,273
45 KHT 450 523 543 1,066
HHT 1,000 1,133 1,252 2,385
BEHT 58 61 64 125
A K BT 630 744 752 1,496
7 HT 431 445 464 909
RICET 475 521 555 1,076
FORHET 197 209 228 437
RFHT 216 226 253 479
KHET 371 347 398 745
KET1TH 228 254 286 540
XKET3TH 289 337 323 660
XETATH 886 834 1,056 1,890
fit] LLI BT 2,331 2,772 2,870 5,642
JE LT 967 1,124 1,237 2,361
EHERT2TH 208 445 440 885
EHERISTH 427 548 549 1,097
EHERT4TH 362 430 472 902
EHERSTH 328 387 461 848
EHERT6TH 215 282 267 549
EAERET7TH 159 237 240 477
=Y:i 331 357 402 759
8 [F T 1,587 1,481 1,736 3,217
=i ET 501 545 621 1,166
2l 3t BT 476 622 583 1,205
N =15 96 116 123 239
+HEFRT A 651 661 728 1,389
L EFHTER 860 766 868 1,634
L HAET 2,105 2,354 2473 4,827
LFH¥ABT1TH 73 122 121 243
LH¥\ET2TH 158 163 185 348




BT 4 HH 5 £ i
LH¥AET3T B 150 150 176 326
L¥AET4 T B 155 165 202 367
LHABTS T B 208 273 288 561
I == HT 217 220 257 477
M=rET1TH 542 531 570 1,101
Mn=rET2TH 552 547 569 1,116
JO=fET3TH 421 438 414 852
M=rET4T H 1,107 1,135 1,175 2.310
I S5k T 589 611 679 1,290
I=F5di) 232 225 264 489
Jt B BT 30 39 40 79
Jt ET 414 382 372 754
fHZaE T 791 923 984 1,907
FHRHET 77 90 98 188
1 2 FF T 375 437 474 911
BEFE1TH 85 107 114 221
BEFE2TH 277 331 336 667
T EHT 129 147 148 295
/A BB T 3,050 3,169 3,393 6,562
1R T 262 294 307 601
YEZF HT 736 750 800 1,550
EXBI1TH 265 240 278 518
=/ LLIHT 236 174 134 308
Hh ek HT 28 28 6 34
T A EHET 10 12 10 22
THHEE1TH 709 685 744 1,429
THHEE2TH 528 583 565 1,148
THHEESTH 749 748 875 1,623
TEHE1TH 196 198 189 387
TEHRI2TH 807 769 885 1,654
T¥HEI3TH 164 172 179 351
TEHRI4ATH 82 82 88 170
TEEI5TH 238 248 268 516
T HAET 658 697 733 1,430
TET1TH 355 361 374 735
THAERT2TH 453 454 478 932
TH¥BISTH 200 203 241 444
TH¥ABRT4TH 156 152 181 333
HTAEHET 22 21 9 30
ikl 192 190 195 385
#8)11 BT 43 47 55 102
KT HT 302 324 352 676

e K HT 1,691 1,770 1,921 3,691
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HEZ HH 5 £ i
FSIED 262 323 323 646
XLAT1TH 858 844 1,003 1,847
XLAT2T B 305 336 357 693
X#ILET3TH 151 162 167 329
1 [ BT 49 66 80 146
hHET1TH 348 372 420 792
hHET2TH 450 485 526 1,011
hHEI3TH 439 520 532 1,052
niEld:) 255 252 288 540
th 2 JEHT 235 224 262 486
ch T 129 135 170 305
FRAHT 747 873 885 1,758
DiX /N 874 924 1,056 1,980
75 K ERET 782 995 1,019 2,014
75 2 [N HET 1,661 1,860 1,992 3,852
A 790 775 880 1,655
SFHEAT1TH 537 475 547 1,022
SFHEAT2TH 406 395 458 853
$FHEAI3TH 208 231 238 469
| BT 424 483 509 992
YHET1T B 374 473 492 965
RET3T B 351 399 436 835
RET4T B 118 113 143 256
J\ & T 988 1,102 1,155 2,257
J\HHT 169 218 224 442
+ A ERT 273 326 364 690
AR 2,436 2,562 2,720 5,282
THAR1TH 23 22 20 42
THAR2TH 1,451 1,397 1,376 2,773
TAR3TH 192 179 181 360
THR4TH 379 314 386 700
TARS5TH 952 705 977 1,682
THAR7TH 347 393 434 827
THARSTH 385 420 433 853
THBIOTH 386 458 515 973
T4B13TH 300 343 383 726
AR NBHT 1,944 1,738 1,996 3,734
HARRHET 1,340 1,270 1,269 2,539
HEARK/ERET 284 378 392 770
HEARICEHT 160 170 183 353
HARKEHET 132 124 134 258
Z AR hHET 201 233 265 498
N 435 465 494 959

3./5%%



HEZ HH 5 = 5
H AR EHT 320 354 394 748
HARE)IIET 283 278 301 579
HARE AH 113 127 138 265
FH AR JTHT 08 93 112 205
EARERHE 665 579 662 1,241
B K BRHET 390 411 406 817
Edsa] 887 917 1,029 1,946
BEFET1TH 768 759 772 1,531
BEFRI2TH 598 610 693 1,303
BEFETSTH 343 408 412 820
AIFFAT1T B 429 388 449 837
AIFTET2T B 586 612 674 1,286
AIFFAT3T B 595 700 738 1,438
A HT 187 214 201 415
B LH 211 276 293 569
NEL] 813 830 894 1,724
ERL 704 893 905 1,798
= HHE 1,711 1,964 2,067 4,031
HEXHRET1TH 564 640 665 1,305
HETIRET2TH 525 626 658 1,284
HLAREISTH 300 390 382 772
fx T 319 384 408 792
mERI1TH 1,160 1,131 1,313 2,444
mERI2TH 839 963 1,082 2,045
FA T 1,333 1,402 1,590 2,992
= RITET 529 516 556 1,072
= AHT 354 287 357 644
AR#HT 10 9 4 13
=) 499 586 546 1,132
SHA1TH 706 649 817 1,466
S HHET2TH 395 436 465 901
S HAI3TH 853 767 936 1,703
S HET4TH 782 675 892 1,567
E& T 2 2 0 2
J\IRET1TH 202 270 265 535
J\BRET2T B 245 258 235 493
J\FRET3TH 237 290 295 585
1T HT 292 438 429 867
FHEIBRT1 TH 145 172 180 352
FHaEIRT2TH 208 429 462 891
FIaIET3T B 11 24 16 40
ENDER1TH 0 0 0 0
EDER2TH 0 0 0 0
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